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Mo, of Qutestions ; 100
vt wlt e : 100

Time:23 Rours = - Pull Marks : 300

L . | |
W 27 wed | qUTlE 300

Note: (1) This questior, baoklet contains 100 (hundred) questioas in al
(80 in Section - A and 70 in Section - B). Attempt as many
questions asyou can. Each question carries 8 {three) maris.
One mark will be deducted for each incorrect answer. Zero
T w-gR ¥ @ 100 () nw ¥ (wvw- & ¥ 30 g
EEAF 70 )| gl 9w W ww ey o TR Y
TS 5 3 (B9) St W ¥ a9 T s 3 fimr oo
% BT L T SR e %t s £ &y

(2) If more than one alternative answers seem to be approximate to

P.T.0,
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Section - A
qE - A

01. A student asks a question from his teacher and his teacher is not
able to answer what teacher should do ?

(1} He should say that he will answer after consultation.
(2) He should scold the pupil.

{3) He should say that the question is useless.

(4] He shouid tell the student that it is not of his standard.

o DTS STTY SEIYE q O ue oa ¥ ST IEH A ¥
X ¥ e a8 T @ wteAws @ A F AR

(1) a@rwmaﬁaﬁﬁﬂsmmm%aﬁ%‘m

02. Which one is not true for a teacher ?
(1) Teacher is the leader of his class.
(2) Teacher is the manager of his class.
{3) Teacher is the dictator of his class.
(4) Teacher is the facilitator of learning of his class.

wmﬁmwwaﬁ%?

(1) Wmﬁwzﬁl%mﬁﬂr%l

(2) Waﬁmmmé‘m%r

(3) WMWHWW%I

(4) Wmﬁaﬁaﬂﬁmwwﬁw@m%l

4.
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03. When majority of children become restless, disturbed and disobedient
in the class, the teacher should examine :

(1) Influence of outside elements i in claas
{2) Home environment of the learners
" (3) Co-tusricular and other attractions in the school
(4 Subject knowledge and teaching method
mmﬁwﬁﬂﬁa R AT SAErd oF F spemrges
T J S e -
) =W & el a@t 3 gug
2) ==t & Eli‘q AT F

04, Authoritarian teaching behaviour is more suitable for :

(1} Confidence (2) Discipline

(3) Achievement '. - (4) Improvement.
HelTary fmtr S sy ¥ B Rre oy &
(1) ﬂmﬁwm (2) IgEE

@) Suwfen (4) TSy

05. The major objectives of education i is
(1) Reforming the society
(2) Making students discipline
(3) Developing mhcrent abﬂ:tws of students
(4} Making studr:nts followers uf teachers

s PI- i°+
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07.

vt b1 T TR

(1) @Al H gaR e

(2) Waﬁraﬁmﬁm

@) ©BE ¥ e sl & EwE B
@) St @ et B AR T

Discipline means :

(1) Strict behaviour (2) Severe Punishment
(3) Obedience (4) Going by rules
AT N A L

(1) G&T FAETX (2) ®oBIT TS

(3) SATEERITET (4) Frenif & FFER

Mohan is a student of grade 4 with visual deficiency. He should be :

(1) Excusedtodoa lower level of work. '

(2) Helped with his routine work by parents and friends.

(3) Treated pormally in the classroom and provided support through
Audio CD’s.

(4) None of the above.

ﬁsﬂaﬁm4mmmﬂﬁ,ﬁrg’r‘nﬂmﬁm%uaﬁ:

(1) ﬁﬁﬁ?%iﬁfﬁ%%&%ﬁ&maﬁan
(2) %ﬁmwﬁ%%ﬁﬁﬁfmaﬁﬂﬁﬁaﬁwm
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For inclusive environment in language class, it is necessary that :
(1) Al needs of the students should be taken care of,

(2) Students should be taught many langlmg:a

(3) Students should be given various audio-visual aids,

(4) Too humble attitude should be kept towards students,
WrT-FT ¥ T AT 3 R oredt By -

(1) mﬁﬁmw@wmwwt

(2) oFf W &% Smd ger W

(3) mﬁ”ﬁﬁﬁwm—mﬂmﬁmﬂm{wﬁl

{4) mﬁ*ﬁmﬁmﬂa&ﬁwwml

Which of the followingis a quality of motwated teacher

(1) Autﬂcmtc ' (2) Goal directed behaviour
{3) Biaaamfamnn {4} Superiority complex
ﬁwﬁ‘ﬁ!ﬁmmmﬂﬁaﬁmmmiﬁm% ?

(1) Sy 2 w7 FERm =mRr

3) oWy : 4 feur & s

‘I‘fxe most :eﬁ’ective method of behaviour modification in children -

(1) Pesitive Reinforcement

(2} Corporal punishment

@) Counselling

(4) Givitg appropriate Worie assignment
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11.

12.

13.

14.

In which vear Indian Parliament enacted RCI Act ?

(1) 1986 ; (2) 1992

(3) 1993 {4) 2000

e Ha% 3 fhg ad oR. 1. o, arferferas J=rEr !
(1) 19867 (2) 1992 H

(3} 1993 H (4) 2000 %

Facilitics of Education in Mother Tongue is given in :

(1) Article 350(8) . (2) Article 300
{3) Article 45 (4) Article 56
rgeren # T & gRed @ ™ ¥

(1) argeRa 350(a) H . (2) SAIEBR 300 =
@) T 45 ° (4) oTg=8% 56
SUGAMYA BHARAT ABHIYAN is related to :

(1) Divyang (2} .Women

{3) Children (4) Young people
g R AREE dag 8

(1) Re=itd @ (2) wieansti &
@) et & (4) gamaAm €

Which one is not the aim of BETI BACHAO, BETIL PADHAQ YOJANA ?
(1) Prevention of gender biased sex selective elimination

(3} Ensuring Job opportunity for girls

(3) Ensuring education and participation of the girls child

(4 Ensuring survivai and protection of the girls child

8



15.

16.
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ﬁmﬂﬁw‘%&wﬁﬁﬂw@’ﬁw.wwkw%?
(1) ST TR 4T e RiT e wwEe & des
(2) wivmrstt § Wl & s g s

(8) =it = frar ol wwwimr gRfRem s

(4) wRmeslt % sfRom oF e @ gPReET s

A review. of NPE-1986 Programme of Action (POA) was done by ;
(t) National Commission for teacherd:

(2) Yashpal Committee

(3) Ram Murti Committec

(4) Hansa Mehta Conitfigtee

e R 1986w herry R e & T of

(1) Pt # RE odig ewdnr arg
(2) Fware A gRT :
B} R s aw
(4) & A B awy

Which of the following Article of Constitution of India is related to
prohibition of Discrimination on groHIT S Peligion, race, caste, sex

». or place of birth ?

(1) Article 14 (2) Article 15
(3) Article 16 (4) Article 21
Rrfeiae & & st o 3 fow ¥ o, oy, ey,
R o s e & fewm @ ] e
0 o[ - @) e s
@) BT 16 - @ ST
°

P.T.0.
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17. Objectives of education are decided by :
(1) Philosophy of Education
(2} Sociclegy of Education
(3} Psychology of Education

(4) Measurement and Evaluation

foren  seea Tt & ®
(1) R ww wf (2) TRTET I TN

@) few @ wRe (4) woe Sl T

18. Which one is not included in objectives of Right to Education
Act - 2009 ?

(1) Announcement of Education as Fundamental Right of Children

(2) Establishment of School Management Committee

(3) To encourage democratic dicentraligation at school level
{4) To improve the quality of highcr education

ﬁmmﬁmaﬁﬁm—zongﬁaﬁaﬁﬁﬁﬁﬁﬁwm‘ﬂ

T |
(1) Frei Y el W eEh SATRRTY W T

(2) Rremee weee qi @ TR B
(3) ﬁaﬁfﬁ%ﬁfﬂﬁmﬁﬁﬁﬁmﬂﬁmﬁ

4) o RO & €@ ¥ GAR HCM

10
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NIVH is located at :
(1) Dc_lu'adut_x (2) ﬁ_e.ihi
(3) Shimla (4} Mussoorie
o7 . f. . e Rew & 7
(1) - ¥sug - (2) Rt
(3)  fomrr (4) Tgh
'Qfﬂ]gﬁﬁl - £ ] I " e & P - -
Which v mmmlswmﬂywmw
(1) NCIE | {(2) RCI
{3} . NCERT : (4) AICTE
frer & @ Rfire Rt § Ry =y § Bvar g 37
(1) 1. ot & 4. . (2) @R €. ong. L

B) . 8§ . & @ g, o & A £
Find out-the missing item from the following :
T @ g E e A

(1) 10 | (70 5 S
(3 12 4 13
T g, |

11
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22. Find out the missing item from the following :
Ry # @ g 95 S B

REHE
6lsl6
1|62
1y 7 (2) 10
(3) 8 (4) 13

23. Average age of three individuals is 60 years. The age of first individual

1 —
is E‘f‘ of other two individuals, What is the age of first individual ?

7 Pt @ ol o 60 @ ¥ 1 R @ B og o Al
i omg A L %1 wd s omg Y 7

(1) 45 (2) 40
{3} 36 ' (4) 38

24, Among 49 students in the class Kareem’s position is 16™ from the
top. What will be his position from the bottom ?
(1) 327 (2) 337
(3) 36" (4) 34"

4gaﬁf=€tmﬁ$&nmwaﬁﬁﬁmﬁ%l?ﬂ%ﬁmm
T B ?

(1) 32 (2) 33

@) 363 (4) 345

12



25.

27.

28.
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What is the 7% letter at the left of 18% letter from the left in English
Alphabet ?

mmﬂmﬁIﬁW%ﬂmmwﬂm?
(1} K @ Y
3 L ' 4) M

At 8.30 PM what will be the angle of long hand and short hand of the
clock 3 -
mﬁmmﬁw%wﬁqﬂﬁmﬂhwr%%mm
W B ? |

(1) 90° (2 780

(3) 60° e

Directions : Choose the group of letters which is different from others
of the following :

Porder ﬁmﬁﬁmmﬁﬁmmuﬁ@ﬂﬂmﬁﬂ :
m BD . (2} IK

(3) PN @ . 14 8U

Directions : Choose thwnup of lette.rs which is d:ﬂ‘erent fmm athm
of the follﬂwmg

Fodar mﬂﬁaﬁwg’ﬁrww#ﬁwaﬁmﬁﬁwﬁ
(1) BCD . ) } KMN

(3) QRS -4 .GHL

13 '
‘ | PT.o.



17U/94/ 14{i)

29, Student got twice as many sums Wrong as he got right, If he

30.

attempted 48 sums in all, how many did he solve correctly ?

mﬂﬁtﬁﬂaﬁraﬁaﬁmﬂmﬁﬁm%mwmawmﬁw
ﬁaﬁr%mﬁmﬁﬁwmmmﬁﬁraﬂ%ﬁaﬁﬂﬁnﬁﬁﬁ?

(1) 12 2) 16
(3) 18 ' (4) 24

In a garden, there are 10 rows and 12 columns of mango trees. The

distance between the two trees is 2 metres and a distance of one

. metre is left from all sides of the boundary of the garden. The length

of the garden is :

qaﬁﬁmﬁmqﬁﬁﬁfmm'wﬁﬁm%%%lﬂﬁﬁ%@aﬁgﬁ
ﬂﬁﬂ%mm%mﬁmwﬁﬂ#@mm%aﬂﬂm
(1) 20m 2) 22m
(3] 24m (4) 26m

14
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Section - B
Ty - ¥

31. If the function f[;{}= x*-24x% + kx-8 is maximum at x = 2, then the
value of k is : :

qE FAT f{y) = x0-24x%+ kx - 8, x =2 WRIRTS T kAW S
(1) 84 | 2 78
{3) 65 (4) 56 '

33. The equétion of tangent to the parabola 3= 4x at the point (1,2) will
be : :
RFg (L,2) W Rawd y2= 4x & wol 1 Fefieor 20T -

(1] x+y+1=0 2) x-y+i=0
B) x-y-1=0 (4) x+y-1=0

- (1og,” |
33. The value of L‘_‘E[ﬁ) will be equal to ;

log,"
“i'i?["?fr)ﬂir A B

mi @ o @ 2 SO

34. Ifﬂ“i@ﬂa?gﬂd Jﬁ;’« = thi:n the value of 35 will be equal to ;

R ~/56 e i35 b, FLAT_TR v
mE A ms

-

1
E P'T tﬂi
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35.

36.

37.

38.

’ 1+2i
The argument of Ewﬂl be equal 1o :

1+24 . .
EEFTWHH@“T:

]

(1)

If °P, =" P, =" P,,, then the value of n will be :

AR °p 1P fp 1 n I A SET SN
m 1 2) 2
(3) 3 G

If f:R_R is defined by f{x) = ax + b; 2, b, XeR and x#0 , then the
value of £'(y) will be equal to :

qf f: RoR, fx) =ax +b;a, b, xeR T4l x#0 AR afeiRE 2, &
fiy) N A SCEL BT

, k-
(1) 5 veR @) 1=, yeR
¢! s ,ng 4 m yeR
{] b ' [} a !

If afy are the roots of ax + bx + ¢ = 0, then the value of o3+ P+ v will
be equal to :

qﬁ'axa+hx+c=~0‘%lfﬂ o By Eﬂ'ﬁl’ -:I3+13§+~;3 Eﬁ'[qﬁqﬂa:{avﬁ

() (% ) e {E?J ) &] ) &E}

16
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39. The Co-ordinate of the centre of a circle passing through the points

41'

(3,-1), (-1,3) and (6,2) will be :

gl (-3,-1), (-1,3) T (6,2) ¥ BT Jored, o wm g& & =
&1 Fsnis &mr
(1) @-1) @ .21 (3) (3.-1) (4 {3,1}

If OA =3i+2j-k and QE i+3]j+k, then the area of &@ABWIJI be
equal to :

(1} ';j'ﬂg square unit (2) %\E square unit
(3) -?&—u squiare it (4) ng?? 'square unit

T OA=31+2j-k W OB=1+3j+k, Bt Braw oAB = Swuer
g |

() V8 =f g @ 38 wh gt
3] %Jiﬁ T T (4) %Jl—é Tt T

I fix)= ta.n“—ﬁf, then the value of £'(2) will be :

2n 4

1 @ 35

v 1 3x

{3 2 (4) 7
17

PT.0.
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42.

If 10 sin*a+15 cos* o= 6, then the value of 27 cosec®a+ 8 sect o, will
be cqual 1o :

(1) 243 (2] 230
(3) 255 : @) 260

af% 10 sin® g +15 cos® a=6, @ 27 cosec®a+ 8 cecta, HI A U
'EA:T"IT : :
(1} 245 (2) 250 (3) 255 (4) 260

Let A be a non singular matrix of order 4x4, then |adj Al is equal to:

qﬁa,4x4mﬁ@wﬁuwaﬁh\aﬁﬂ T T EET
i

]

(1) [A] 2 Al
(3) Al - @ |4
x+1 z-3
The angle between the line —a—=-§=—6~ and the plane

10x + 2y-11Z = 3 will be equal to :

%”:%—Tz_;% e HRAA 10x+ 2y - 112 =3 %ﬁﬁﬁiﬁﬂ
qOEL B
8 af 8
(1) sin l[ﬁ) & ml[:‘ﬁ]
L(2) {2
(3) sin II[EJ (4) cos [E}'

18
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45. Positive value of m for which the coefficient of x? in the expansion of
(1+x)™ is 6, will be equal to :

m Bl ETAHF q B Y (1+ 07 $ wex § o w7 quiwe B,
T BP | |

(1) 4 T @ s
@ s @ 7

46. ‘The value of |y will be cqual to

et o o
(1) log G—?] ; K e [%J
@) log @%) LW e (§‘—§J

47. The polar form of (~3v2+3V2 i) willbe :

o (oSmd] o ot un
NHain® +icoe™ -E..'n:
(3} (ﬂiﬂ:&-}- 1008 -3J 4 4[cns 2 +isin E]

i B " PToO.
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48.

49,

10

The principal value of cm'{"—sj will be equal to:

o - o e = v

2 3
L @ 3
4n

@ = @ 3

3 -2 1 0]
1f A2 = KA — 21, where A=L¥ 2] and I=[ il then the value of K
7 J

will be equal to :

& 3 -2 [1 0
aﬁa==m-21,-:ma=[ ]a&nl },ﬁ!’KiﬁrHﬁé‘Fﬂt

4 -2 Tl0 1
(1) 1 (2) 2
3} 3 4], =

If @ is a cube root of unit, then the value of

(1+m—m2)(m+m2-1](ma +1-0) will be equal to :

R o THE B TH T 8, ar (1+m-m“)(m+m"—1)(m’+1—m]Eﬁr
o =OET B |

(1] -2 ' Q) -4

(3) -6 @ -8

20
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51. Suppose that any relation R is such that R={(4,5),(L4)(4,6},(7,6).(3.7}},
then the value of R-IgR* will be equal to :

T R e S R T TR B R={(45).0,49(46),(7.6,(37),
RIOR™ @ W SGAT BT :

W {(4 1),(5:4),(7 s)]. ' {{5,1).(&,1},{6,3}}
B {(54.E747) @ (48707

will be equal to :
(1) 2andl (2) 2and?2
8) 25&53 ‘ | _ (4| 2and4 ;o
dr I (drY -
. mmﬁﬁ“ £+ %5 % Fife ofiT um w9 2
(1) 2997 1 {2} 2%= 2

(3) 29w 3 (4) 2e=m 4

dx
- B3, m'?ﬂ!lﬂﬁfmwiﬂbe.equaltq:

dx

I%f-ax+m W A qUET SR
x+1 ' 1 . Ix-4 |
] “m[x'ﬂ] _— @ Em-_{x_ai"]
5 . x4+
(3) 1:.-.3[ — J - et ;J

3 1 P-Taﬂ.
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54.

55.

56.

If the velocily of Projection is 19.6 metre/second, then the maximurai
range of the projectile will be equal to :

(1} 39.2m/s (2) 36.4m/s

(3) 42.3m/s (4) 328 m/s

af gAqer Ry 19.6 HeT/ FDVE B, A NG P AHTH G0
TRET BN

(1) 39.2#./9. (2) 36.47./4.

(3) 42.349./4. (4) 32.8%1./4.

The maximum and minimum resultants of two forces are F and G
respectively. If the angle between them is 0g. then their resultant

will be equal to :

A 9 & weuw qun g uRemd FEe F A ¢ ¥ AR I
Mz oo T HIOT &, a1 S URENAl BT

(1) JF?cos’a+G?sin’c 2) JE?sin?a+G?cos’a
B JVFP+G? @) Jrr-@?

If a cylinder has the height 10 cm. and the radius of each side 3 cm.,

then with the help of definite integral the curve surface of that
cylinder will be : '

(1} 30xm cm? (2) 45m cm?

(3) 60memd. (4) 757 cm?

% we A A S 10 A, e w@s R @ Breen 3 8. 8,
QY PifEe TR & OH S9d H By B

(1] 30 |HR (2) 45x GHP

(3) 60n HHE (4) 75n W

22
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57. IfPlanes F.(i +2j+3k)=13 and f‘-(ﬁ'fﬂi—?‘ﬁ)-g are perpendicular to
eachother, then the value of k will be equal to:

AR AR 2. (1 +.2]+ 3K) =13 T £ (M + 2] - 7K) 0 v & e

¥, & ka A A d

1y 15 @ 17 @B 19 (@ 21
88. P (A) =E P (B = 1% and P{AﬂB)*i then P (A/B) ie. the

mntﬁt!mmimhabthtynfhgwen thatBhas&]madyﬁﬂcurmﬂmﬂhe
. equalta

afy thﬁ.pqﬁa = O P(ANB)= '.ﬁ?;&jﬂ}_-mmﬁ
mﬁm-mﬁaaﬁmﬁ,ﬁmﬁmﬁrfﬁrﬁ,w@m:

m 3 @z @ rw 2

§9. The dmtanca of & point (2,5 +3) from the plane (61~ 3j+ 2k}« 4 wil
het:qua] to: '

e £{61-8)+2k)-4 & Ry (2,5,-9) B g ST A

11 13
3 @ (3) iﬁ& (4) 19—3

23 P.1.0.
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. dy y)
60. The integrating factor of the differential equation X -+ 2y =x'(x#0)

will be equal to :

ST FHIHTT x:—i-+ﬁr=x2{xtﬂ]fﬁrﬂﬂﬁﬁ=rgﬂﬁ.w€m:
(1} 2x (2) 2x? 3] x (4) x?

= »
sin” 8

61. The value aff i
» 8in" @

4HdEl will be equal to :

+ CO8

f sin* 0
- sin* @+ cos*8

d6 T g1F FOET BFN °

m L L
(1) = @ 3 @ 3 4 &

62. The approximate {nearest) vatue of f (2.01) while f{x) = 4x*+ 5x + 2 will
be equal to :

£ (2.01) BT TEFHE AW T fx) = 4x> + 5x + 2 A BHT :
(1) 28.00 (2) 28.21
(3) 28.56 {4) 28.62

‘63, At which value of x, the value of function xi— 2%+ x + 6 will be
minimum :

x%ﬁmmmmxﬁ—ﬁwmﬁmfnﬁﬁﬁﬁm:

1
m 1 @ 2 @ 3 @ 3

24
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64. The solutionz of -8< 5% -3 <« 7 will be :

~8< 5x -3 <7 % &A BN :

11 11

() —FSx<P | 2 —?<1-¢51
11, 1
B —FExsb 4 -5 <xs5

X

by iy e oy R
() Cy | 2 2@, - @ ®t, @ “c,

66. If "G, =0y, then the value of C, will be egual o ;

AR °C,=C,, A o, o W TUAT A
(1) 415 (2) 448 (3) 465 714 s

% 4q TG A
67. If m.’B;E,thenﬁl,egeneralvalue of g will be;

AR sec'0=2, A o = = A G
im (2) m:l:% (3) m::t(dj“g 4 2nn

CO |

{1) Enﬂ?

Pl Tr n.
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68. The probability of getting 53 Fridays in a leap year will be equal to :

69.

71.

T T X T 53 YRR B & AR B

b

a7 2 3 3) () ,-?

If 0.04x + 0.02 y = 5 and 0.5 (x-2) + 0.4 y = 29, then x and y will be
equal to : ' :

A% 0.04x + 002y =5 o 0.5 (x-2) +0.4y =29, Tx ANy T
BA : :

(1) x=80,y=40 . @) x=90,y=40

(3] x =100,y =50 . (4) x=110,y=50

When —w < x < 1, then the solution set of |X~1|+‘|X~2'|24wi]1 be :

T _pex<l, O |[x-1+[x-224 W BA G BN
(1) ["%’"mJ (2) (%’m]
(3) [_ m,%] (4) {_ m’-_%:{

A ball falls down from the roof of the room and jumps twice on the
floor and reaches upto the halfl of the height of the roof, then the

Coefficient of Restitution will be equal to :

ok T AT 4 Ba 9§ I ¥ R e W R ST SuesT ua Sl
S & o % TEAd B, o yEmEd TOE ISR e

(1) G]; 2) [—;—]‘I‘ @ [%Jz ) (%T
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The radius of the circle 2x? + 2y?- 3x + 5y ~ 7 = 0 will be equal to :

g 2x2+ 2y?~3x + S5y -7 = 0 % BT 4¢AT €91 :

(1) %Ji_n 2 %JE
(3) 6 (4) 8
1 15

o 1
- The term independent of x in the expansion of (ﬁ-l-m] L,%X>0

will be ;

15

[QE-;-&%;J ,X",ﬂ"%'ﬂ'ﬂﬂﬁ X &7 SFNE 9% Sh -

1 i 1
(1) "Cog @, *Cogg

, 1 W L
3) *Cry @ Co

The sum to n terms of the sexies : 5.+ 11 + 19+ 29 + 41 +..... will be

equal to s
A 5+ 11+ 19+ 20 +41 +..... Bao G&F B AT FTET BT :
ay’ E+1?én+5] 2 n(n+1:j(n+ 5)
" ey ; E* ' T
@ 2O @ 22+Daed)

P.T.0.
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1 2 3

75. The characteristic equation of the matrix 2 -1 4 Gl be
31 1

M 2 3
amege |2 1 4| g ey @ B

3 1 1|
(1) 3%_-a2-181+30=0 (2) 23+a%+18,+30=0
(3] 3+2%+180,+30=0 (4) 22 +22-18,+30=0

76. The congruence sulution of 51x =32 (mod 7) will be :

51x =32 (mod 7) & & & BRN :
(1) x = 5(mod7) {2) == 3 {mod?7)

(3] x =4 (mod?7) (4) x=2(mod7)

77. The general value of log (-3) will be :

log (-3] % TG A O i
(1} log,-2n 1)ni (2} log, +(2n + lj=mi

(3) log (-3) + (2n + 1)xi. (4). log (-3) — {2n + 1)xi

28
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78. The area of region bounded by the curve y = x2 and the line y = 4 will

be equal to ;
32 . 35
{1) 3 Square unit (2) —— square unit
43 1T ;
(3) -3 square unit (4} 5 square unit

g% y =301 W y=4 & PR ¥ *1 &% g0« a0 ;
W) 3o o Pt
(3) ff‘-‘m’fmé ] ‘-%ﬂﬁﬁ-’é

79. If ﬂiﬂ"l[s}*'mﬁ*‘-'ﬂ (2}5 » then the value of x will be equal to :

afx siﬁ”‘[s)+cusec (i’}_g, f x @ A SET S
1 1 @z s @

I

ab
- 80. IfR =8 cm in the triangle ABC, ﬁlmthevn]uaofmmm

equal to

+ H{ AABC ¥ R=8cm, d ,(—Ej—gﬂj H | BN
(1) 16 (2] 3% (3) 48 . (4) 64

T.0.
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81.

82.

If q denetes first quartile of a random variable X having cumulative-

distribution function as given below then value of g-l is :

0: KC:D
F(E}: Ix-x> (O<Lx<1
1 z>1

aﬁ%q@mmxﬁwﬂaﬁﬁzﬂwﬁmﬁ%mm
=agdd q

0, x<0
F(x) = 2x-x* Os5x=<l
1 xz1

dl g-1 &1 A4 2
1 3 n 3
1 +— + 1= g R Y
1) =3 (2) 2 (3) V2 s
Mark of 80 students is supposed to have normal distribution with
mean 70. If we draw a random sample of 20 students then what will

be most probable number of students in sample having marks more

than 70 ?

aomsr‘r%aiﬁmrwﬂmm%wmﬁﬂa’ﬁ%,qﬁznwﬁ
=1 e Tav PR ST A1 99 70 § e S T A st

& gaiftes | R T w7 BN ?
(1) 70 (2} 40 (3) 39 o4 10
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83, If2Y~}{+3=0islmgressiﬂn line Y on X and its angle with regression
line X on Y is 45° then coefficient of correlation between X and Y will
AR’ 2Y-X+3 = .0,Y WX T @ErEaT Y@ §oolit semr X 9y
& WIHEY Y| ¥ AN g 450 8, AxX ARy B G wEwey
T A 8

T T A 1
. @ @l @

84. If random variable X Beta type [ distribution B, (a,b}, then the
distribution of random variable Y = 1 - X will be :

AR AgfRe =R X W A der k), T & & aghes

qATY = 1-X o7 g By
() B (1,b) 2) Bi(ba)
@) Bifab) , 4. Ba(ba)

-

85. Mean and variance both of a variable X having frequency distribution

W X & Prafife T $o7 & ae oF saeer a9 & 10 ¥ -
- Class MX:-'XJ x‘e"xs }F;'Kﬂr xq'xﬁ xﬁfx._ﬁr xl:_x'l XTFXB

{ﬁ.,[“;l;ﬂ 3 27 a2 8 1 9 3
4 Bl 3 4 4 4 3 1
What are values of X, andx,,? |

X, K, & 0T oy B,

M 215 @ 515 (3 o0 (4) 3,17

31 P.T.0.
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86.

87.

Which of the following is true relation between Pearson’s §; and B,
coefficients ?

e & B, X B, quiey @ Aig PrafaRen w=wl d 8 A
Ty wEl B 7

(1) ByzB -7 (2} B, zp-S

(3) B;2B -6 4) B.zH -8

If X is a single sample drawn from binomial population b (4,8] and
nuil hypothesis H;:9=0.2 is tested with critical region X323, then
approximate level of significance of the test is :

afx fags dow ard TERE b (4,9) T x T oTRe AREH &1 ST A
TR H, g~ 0.2 B ThEW ¥ X >3 B FF B T T B
qrefehar T T B

(1) 5% (2) 3% [3) 2% C(4) 10%

The distribution function of a continuous random variable X is
defined below. The value of constant a is :

o T AR WX # He te Preae SR 8, o a
FOAM B

0 x<0
F’(x}= ax? 0sx<4

U x =4

1 3 = @ = @) 1
M 18 ) 536 64

32
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A bi-variate random variable (X,Y) has following probability distribution :

PX=x,Y=y]= ifx=0,1andy=1,2,3.

15 ’
Correct relation among _E{X-}, EfY} and E(XY) is :
%Www{xﬂwnﬁmmﬁwaﬂ%:

PX=xY= ﬂ=%?,‘lﬁx#0.l@?y=l 2, 3.

E (X), Emm\?Emﬁﬁaqﬁm%

(1) EEQ=E() @ EE)<EXEV

(3 EXY)=EX) 4 EPH<EM

If Xagl Pearson coefficient of skewness, coefficient of variation and

modie of & variable are 0.2, 0.8 and 48 respectively then mean and
standard deviation of X are :

-ﬁwm%wﬁwwﬁwm =, 7oiies e wgE

FHE: 0.2,0.8 MY 48 81, O =% B "rey Y gEE R=es D
(1) 50,10 _ (2} 52,20
(8 250 o, @) 48420

L]

Which of the following is notappropriate for graphical representation
of quantitative variable ?

(1) Box plot . {2) Pie—chart

(3) Stem-leaf chart (4) Histogram

%ﬁw ﬁ%ﬁwmﬁmm%ﬂmﬂﬁw%maﬁaw
(1} =t <dfe @ -

(3) SIs-9<i = 4 omaT /e

33 P.T.0,
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92.

Which of the.following in not a part of t-test ?

(1) Samples be drawn from normal population
(2) Population be normal with known variance
(3) Population be normal with unknown variance
(4) Population be normal with known mean

| Frafafaa & & B9 g0 & o6 9T e g 7

93.

(1) ufrest werwg g§== @ fomr @ar &
(2) FEe THE O SIS TERY H 8l
(3) THRE GHMTT OF I GEROT & 8
(4) wHRe SumErY ©d S AnA HO8

Which of the following Latin square design in mot possible in the
design of experiments ?

Tt & g & P Se-ar g e @it areg w8 w7
(1) 3x3 ‘ (2] 22
(3) 4x4 (4] 6x6

Suppose that cholesterol levels in a certain population are normal
with mean 200 and standard deviation 24. The mean cholesterol level
for a random sample of 9 individuals was measured as 180. The
z-score of measured sample mean is :

mﬁﬁﬁmmﬁﬁ%@@ﬁﬁaﬁzmwm
e 24 1 9 el & ww argfess nfteeier @ aRmst ofea
180 2, wfyasisr offea @1 Z-@HIT B ¢

(1} -3.75 (2} 2.5
(3) -0.83 (4 -25

34
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96.
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A stratified random sample of size 10 students is ta be selected from
the following information about three colleges :

Wﬁfﬁﬂﬁmw%mmmaﬁfmﬁﬁqw
e _ .

College NO. of students Standazd Deviation

A ©200 0 2

B 300. 1

@ - 100 3
How many students will be sekected from college C nder optimur
clocation T o Seecied from college € under optimun
(1 8 . @ (3) 2 (4) 4
Gradient of fertility in a field is' East-West.. For & randomised block
dcmgnthg@lﬁrz‘kg'wﬂl:bemdcindirwﬁm;
(1) NorthiWest (@) East-West
(3) East-South {4) North-SBouth -

TSR s e

(1) SRR (2) gi-afeem
(3) w-Aler {4) SEC-afT

A question wais asked, whost answer is either TRUE or FALSE, to 1(
randﬂmh‘ MW&;& of them gﬁww answer, What st
be the value of Chi-square if null hypothesis is P (TRUE).P(FALSE)=3:2

eg

TR R & 5 M 100 el § 0w e T 3 o,

a1 A o ot T a7 | gt 8 6] R A
T SRETI &, 5 p(eh): P(mea:2 o wsemat @ w1 By

1 1
W 5 R @ o

35 P.T.0,
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98, X, X,, X,, is a random sample from a population with mean gand
variance g?respectively. Which of the following statistic :

T,= (X~ 2}{2]

L= sy~ KE]

To= &K+ X+ X))/3

T,= (X, + 3X,+ X,)/5

is unbiased as well as having minimum variance ?

(1) T, @ T, @) T, 4) T,

o X, X, X, A ¢ S FERT o2 IR gAke B AgRes g 8
ar:

T, = (X,- 2X))

T, = (@X, - X,)

T,= (X, + X, + X;)/3

T,= (X, + 3%, + X,}/5

# e o o wy & | g SR Aw SRS § 7
T, @ T, @3 T, 4) T,

99. Mean and standard deviation of a random sample of size 15 are 10
and 5 respeclively. t-statistic is obtained to test nuil hypothesis H=12.
If value of each observation is decreased by 2 then the value of new
t-statistic in comparison of old will be:
{1) Smaller (2] Larger

(3) Unchanged (4) Changed but not certain

36
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15 ufrEsisT e us e gfeel & A, aee fEee B9 15
HI 10 B, 9 IRFTTT H,=12 % qlerr g t-sifnasn P st
%ﬁnﬁmﬁ%uﬁmmﬁ%wzﬂmﬁ@mﬁrﬁ
t-SHAH W YW I | B¢

(1) s (2) =T

(3) eraftaffa . . ) Refda oty sifReR

100.1f M,V, denote the mean and. variance of n ranked observations in *
case uf non repeated observations and M,,V, are mean and variances
in case of repeated ranks then, which aftlm fnllomngrelahunamll

- 'be true ?
fa) M;=M, - o b) V=V,
© V>V, @ v,<v,
(1) @andf) {2 () end (d)
(3) (2)and (¢) (4) (b) and (d)

A% BT gAaf it o ¥ nwvien @ S @ 9 v IEIeT HEa
M, V, Sl g At S ¥ v, v, 8, & P i Q) Be-d ey
9 BT 7 :

(8) M=M, . (b) V,=V,

) V>V, : L v e,

(1) (a) & (b) (2) () af(g)

(@) (&)X () @ O ()
37
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ROUGH WOREK
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ROUGH WORK
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1i.

12.
13,
14,

st % forg Fdw
fwwﬁw%mmwwmm—wtﬁwfw
307 Fieh-wrelt amer-onge 4 @ 8 )

mgﬁmﬁaﬁ%mfﬁw%mﬁiﬁﬁﬁawﬁws@nﬁ%%aﬁtﬁ
mrﬁgrﬂs?%‘qﬁmﬁﬂﬁmﬁaﬁmmﬁqmwm-mﬁwmﬁ
T ) gEl e e A |

;ﬁw;;:rﬁ mnﬁam.wa:mﬁmﬁﬁrmmﬂﬁ@ﬂww

T T P

m-wm#ﬁwnw#r;#aaiﬁ&'mn?ﬁwﬁ;mm—waﬁ'ﬁmmr
Faw J9T-0F &I B qedied e FEm
mmmammmmmfmmm-wu&wﬁﬁﬁﬁﬁmm%@

-W-w%mgﬁwh#mwmmwﬁﬁmﬂﬁ&Wﬁ

#@T;a‘? aﬁ-ﬁmﬁ#m—gﬁmmmmﬂ?mmmw
ar | '

aito Qo ITo X UT SFHAIE TG, ygfiaT GEAT 7 R WO (AR FF A) 74
TYAgEE T AfEE A st THe AR W o &t wffea ¥ aufreeT &1 AT
T 2

mﬁm%@ﬁﬂ‘mﬁmmwmwmmmﬁ#mw u& Jfad
2T FT TN WA S -
m-gfﬁm#'mm%wﬂWWﬂiﬁﬁmm%hﬁam%m
mm-wﬂmﬁwﬁﬁmﬁ#n@wﬁm-ﬁ%mwwﬁ#ﬂﬂ
fot & e 47 & wor wA H
mm%m%m%ﬁa@ﬁwﬁw#n@ﬁ wfems at N TE FA
mm&wﬁmqﬁmﬁmwmmm -
m#ﬁﬁmwﬁmaﬁ?mmﬂmm#r afr Frq THd X &I
72F 8ar I d &, ﬂh’aﬁ#ﬂ’!ﬁ‘%m@ﬁ#ﬁwﬂﬁaﬁmmﬁ oisidagie
% i s '
tﬂﬂfi?ﬂmmﬂfﬁmﬂig@qﬁ%aﬁﬁwwmm-@ﬂ%mw
# yaT H

TRy & T mm@mm-wqﬂﬁrmﬁmmﬁi
qﬁmw@ﬁ%mmw%mwﬁﬂ Syfer Y g
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